
Studio del transitorio con input sinusoidale - Caso sottosmorzato

m 16:=

k 5000:=

c 15:=

Parametri della forzante

F0 100:=

Ω 8:=

Condizioni iniziali

x0 0.05:=

v0 1.5:=

ω
k

m
17.678=:=

ξ
c

2 m⋅ ω⋅
0.027=:=

ωs ω 1 ξ
2

−⋅ 17.671=:=

δst

F0

k
0.02=:=

r
Ω

ω
0.453=:=

Moto a regime

X
δst

1 r
2

−( )
2

2 ξ⋅ r⋅( )
2

+

0.025=:=

φ atan2 1 r
2

−( )
2

2 ξ⋅ r⋅, 




 0.038 rad⋅=:= φ 2.174 deg⋅=

xpart t( ) X sin Ω t⋅ φ−( )⋅:=

Soluzione eq.

omogenea

A x0 X sin φ( )⋅+ 0.051=:=

B
1

ωs

v0 Ω X⋅ cos φ( )⋅− ξ ω⋅ A⋅+( )⋅ 0.075=:=

xomo t( ) e
ξ− ω⋅ t⋅

A cos ωs t⋅( )⋅ B sin ωs t⋅( )⋅+( )⋅:=

x t( ) xomo t( ) xpart t( )+:=

t 0 0.001, 20..:=
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